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m. inaigis d
iwuMms: a+b+c+d=11
2a+3c=19
b+4d =22
4da+d=14
Sb+3c=5
ynunnassmaghndupumidims:
7Ta+7b+7c+6d =71 =« 7(a+b+c+d)-d=71
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V. iHms:
a= 288 - (28)11 = 25611
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i A 0 ABE 88 ADIBCF intjd ABH Biamms:
 AB=BC=2 (M ABCD)

BE=BF =a ([ﬁ,ﬁﬁiﬁ]ﬂﬂﬁjﬁm BEF )
= AABE = ABCE (#.1)
inf: AE=FC
itiits DE = AD- AE =2-x, DF =DC-FC =2-x
— DE=DF
it A O DEF 118 DE = DF iQ1:hifiimaniniaosms
t'tf’jﬁms EF?=2DE* = a®=2(2-x)* D
WIwWHh A O ABE, mui§ajusimen

BE?=AB2+AE? = a?=22+xX*=x*+4 (2)
M) 81 (2), ibums:

22-X)°=x"+4 - x*-8x+4=0
e A'=16-4=12,
QUNNSUAIANGT x =—(-4)-12 =4-12

8 x, = ~(-4) +\/12 =4+/12 > 2 (inv)

§in: x=x =4-12 tms: a* =1 +4=(4-V12) +4

a®=16+12+4-16y3=32-163 =8(v3-1)
= a=2/2(3-1)anmypii
§o1s: a=2y2(V3-1) hnmity .
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mutns Sumujuitug) ihms:

ab=8cm?, A=2a+b, 81 B=2biity AB=5ab
= (2a+b)(2b)=5ab ~ 4ab+2b?=5ab
= M=ab « b'=""==4 = b=2cm

S[ef] a:g=4cm
ifihme vinpsmmaninati:
P =2(A+B) = 2(2a+b+2b) = 2(2a+3b) = 2(8+6) = 28cm
§uis: vTNRGHIMANinhEHE 28om o

big thank to &vo. Soun Sovathana for solution to exercise Number I, V, VI, and VI
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